


UB = 4 . 25

LB = 4 . 15

imm = 0. ICM

-> 0.05

UB = 9 .45 cm

UB = 9. 45 x 3

= 28 . 35 CM

imm = 0. I cm

-> 0 . 05

no of rods = detUseCUB)

I 500.5
I 87 rods

-

5.75

Length = 5
.
85 width = 3.45

5.75
2.35

Perimeter = VB = 16 .6

LB = 16 . 2



--

Increase= 120 - 114
UB LB

UB

= 120 .
5-113 .

5

= 7 CM

95.5
-
> 1 < 96 .5

435[P < 445

imm = 0 . Im

=
0. 05

length = UB = 16 . 15

LB = 16 . 05

Perimeter- UB = 48 . 45

LB = 48 . 15



---

-

0. 05

no of glasses= water bottle f CB

-

(LB) glass - UB

= 24 .5 = 70 glasses-

0. 35

249.5 <j < 250 .5

UB = 6 . 35 x 4 . 85

= 30 .7975

- 9.5

5. 5 5.5

12-5

P= 33 cm



---

(B = 27 .5 x450 = 12375$

UB = 28 . 5 x 450 = 12825$

-

1000 - 500

1 . 28x 105

128500

P(UB) = 2X ( 197.5 + 210 .5)

=816mm

--

0-1 = 0.05

[B = 6 .75 x6

= 40 .5 CM

1cm=0. 01M

-

--
-> 0.005

LB = 32x 1 . 995

= 63 . 84 M



Imm = 0 .5

P = 73 . 5 x3

= 220 . 5mm

P(DB) = (6 X 24 .5)+ 26x 18 .5)

= 258 Cm

6 . 55 x 9 .5= 62 .
225

842 7 2 Y+ i
-

-
5
- (27 x

05
15 x3O

↳2
12-2

237 .5 , 242 .5



21 . 5 d 4
.

22 . 5

21 . 5x 1 . 6 = $34 .4 X 5 = $172

115 <d < 125

ACUBS = 125 x /25 = 15625

((B) = 1 15 x 115 = 13225
-

2400m

63754P(6385

32000

25450(n(25550

* (CB) = 17
. 5 x 11 . 5 =

201 .
25m2



h(DB) = 65. 5 x 3 = 196 . 5 mm

p (( B) = 51 . 5 + 62 .5 +93.5 = 207. 5 mm

2A (IB) = 62 . 5 x47 .3 = 2968 . 75mm

A CLB) = 61 .5 x 46. 5 = 2889 . 75mm2

ACHB) = 9 . 35x 7.75 = 72 .4625cm
*(LB) = 9 . 25 X7. 65 .

= 70. . 7025c2



ACDB) = 8 . 5 x 8 . 5 = 72 . 25

XCLB) = 3 . 95 x 2 . 65 = 10 . 4675

SCIB) = 165 = 32. .5

877 .
57 LB

h((B) =
- = 18 cm
6.5x 7 .5 FUB



119 . 5 - 75 .
5 = 449

8 . 45x124 T(g)(8 .55x12

101 . 4 < T(g) < 102 .6

PCHB) = (2 x 127. 35)+ (2x86 .55) = 427 . 8

PCLB) = (2x 127 . 25) + (2x86 .45)= 427 .4

ACL.B) = 18 .
45Py

* CUB) = (8 . 55) i
PT = 71. 40 25 T

qπ = 73 .
10254

: P =71 .4025
.

'

-

q= 73 . 1025


